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  F ; d ; Dإ���ء ���  -1
 �&د أ$�اد ا���ع          

D  = --------------------------  
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  �&د أ$�اد ا���ع            

d  =---------------------------------- X 100  
        
  -�*�ع أ$�اد ا�23اع ا�*�01
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 D d F IF ا	����ع  ا���اع
 
 
 

 ا��>��5ت

1 
98 8.2 

           
7.85  50 III 

2 
199 16.6 

         
15.95  100 V 

3 
16 1.3 

           
1.28  25 II 

4 
78 6.5 

           
6.25  62.5 III 

 
 
 

 ا�&5&ان

1 
273 22.8 

         
21.88  75 III 

2 
3 0.3 

           
0.24  25 II 

3 
165 13.8 

         
13.22  75 III 

4 
416 34.7 

         
33.33  100 V 
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ا-�C�- 4�1&د ا�*��ال 4�C5 أن ا�*���,2���- ��E 
  �*&رو�
  

  :  2	���� ر�� 
  
1-  

�G Hام ا����I- ل�*C���� 
��J K�2ت آ�M*� 
5�N*ا� 
O,1&5& ا��J:  

  

  
  
  

   Qا���%  S*ا��%  K-ا��%  
   
  A 10  20  70ا����
 
  B 50  25  25ا����

  
  C 20  45  35ا����
  
2- 
  .15&د�2�M- &G Xت ا����
  �Gام ا����

   

  �MJن -3�O�OMا� 
��Oا� 
����Y1]�ر ا3+*�ض ا��  

    
  �J*�( �[�ا�Eت -\*
     
5
 ا�����\J Q- QM*J  

4 ا_+�[�ظ ���*�ء    � 
  G Q- `$�J&رة ا����

  
   - أ -4

  Qا���%  S*ا��%  K-ا��%  
 
  X 50  16.5  33.5ا����
 
  Y 10  20  70ا����
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  -بI- ل�*C��ا c�5 
  :���G &5&1ام ا����
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  ��Oرة �X    Q�d Qا����

        
 ��Oرة �Q ر-Y  S�*d Kا����
 
  

  - أ -5���
 X   =100 – 60 = 40 mlا��&رة �
4 ا_+�[�ظ ���*�ء �

        
���
 y    =100 – 86 = 14mlا��&رة �
4 _+�[�ظ ���*�ء �
  

 2x  = 60 / 15 = 4 ml/mn[�ذ5
 ا����
  -ب    
          
   Y  =86 / 8 = 10.75 ml/mn 2[�ذ5
 ا����

   

 -ت     ��Gد 
  �*�ء ���ة  $�p�C +�آ�n,*�Jo �� �&ا 3ن $�ا�Eت ا����
 ا�����
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